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Christmas Addition

Solve the following word problems.

Santa Claus has 45 candy canes. He just made 30
more. How many candy canes does Santa Claus
have now?

Mrs. Claus baked 25 gingerbread cookies. Then she
baked 50 more. How many gingerbread cookies
did Mrs. Claus bake?

There are 35 red ornaments and 55 blue ornaments
on a Christmas tree. How many ornaments are
there in total?

A store had 40 Christmas trees. They received a
new shipment of 55 trees. How many Christmas
trees does the store have now?

Rudolph has 30 presents to deliver. Blitzen has 60
presents. How many presents do they have to
deliver in total?

There are 60 lights on a Christmas tree. Santa
added 20 more lights. How many lights are there
on the tree now?

A shop sold 30 Christmas hats in the morning and
50 in the afternoon. How many hats did the shop
sell in total?

8 A Christmas tree farm has 60 fir trees and 10 pine

‘rees. How many trees are there in total?
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